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Run 5454 quartetwise, PosHelAccd
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Lk

12

0

lﬁnl-llllllI|III|III|IIL|_I_LL|J“,|.II

L

"

L T —
————

T

SRR

LI IR NERRRL
TR P TR B . B S

jaac]

20 ETV) &l X TH 100
Entry%

Run 5454 quartetwize, diffl ve time

T L L LU L L T T T T

x10°

e

sarmi

Bem

18

14

12

|

Run 5454 gquartetwize, negHO vs time
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Run 5454 gquartetwize, summi vs time

100
EnbryS

IﬁlllIII|IIII|IIII|I!LL|_I.LHI_II

LI

i
T

o ¥

L
|

TN | B T, I

=

140

130

10a

b TH

ik

4

20

20

afr &l &y

Run 5454 quartetwise, posH4 vs time
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Run 5454 quartetwize, posH4 vs time
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Run 5454 quartetwize, diffd ve time
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Run 5454 gquartetwize, negH4 vs time
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Run 5454 gquartetwize, summdd vs time
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Run 5454 quartetwise, posH4 vs time
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Run 5454 quartetwize, USbg2 ve time

Run 5454 quartetwize, USbg1 ve time
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Run 5454 quanetwize, horizFing vs tima

Run 5454 quaretwizse, variFing vs timea
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